NAME_____________________________
Scatter Plot 
Shoe Size vs Height

Below is a table to record the shoe size and height of a person.  You will need to have  the shoe size and height of 15 people.  Both are measured in inches (in).  Each x–value and y–value is an ordered pair.  For example, a shoe size of 8 in and a height of 63 in would be (8, 63) as an ordered pair.  Graph the 15 ordered pairs you gathered as data on the grid provided.  Make sure you label the x–axis and the y–axis.
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1. What relationship does there appear to be between the shoe size and the height of the data graphed?

2. Draw a “trend line” also known as a line of best fit.  You should consider the important information when drawing a trend line:

· Your trend line should follow the trend.  If the trend is positive, the line should go up from left to right.  If the trend is negative, the line should go down from left to right.  

· Your trend line should have about the same number of points above AND below the line.
· Your trend line should be as close to the data points as possible.

3. Write an equation for the line of best fit in Slope–Intercept form (y = mx + b):

STEP 1: Find the slope of the line.
STEP 2: Find the y–intercept.  

STEP 3: Write the equation of your trend line:
For 4 & 5, use your equation of your trend line to answer the following questions.
4.  If a person has a shoe size of 14 in, how tall with they be?

5.  If a person has a height of 30 in, what shoe size will they be?
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